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51 49 75 97 1 35 262 8, 644 3.0
52 69| 76| 121| 13 1| 62| 342 10,605 3.2
53 30| 70| 130 5 2| 51| 288] 10,115 2.8
54 43 46 113 5 62 274 10, 668 2.6
55 35 44 168 21 1 52 321 11, 354 2.8
56 27 38 130 20 1 37 253 11,578 2.2
57 19 53 94 9 3 40 218 12,794 1.7
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59 10 26 75 4 3 24 142 15, 139 0.9
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61 8 15 116 3 0 13 155 13,916 1.1
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5 6 3 141 1 1 11 163 8, 987 1.8
6 5 11 101 0 2 11 130 10, 691 1.2
7 2 6 44 1 3 14 70 12, 886 0.5
8 3 6| 24 0 2 4] 39| 11,078 0.4
9 3 8 27 0 2 4 44 10, 310 0.4
10 3 8 17 2 2 6 38 7, 300 0.5
11 3 7 22 2 1 13 48 7, 989 0.6
12 4 6 26 0 3 14 53 6, 226 0.9
13 4 6 37 5 2 16 70 5, 268 1.3
14 2 11 41 4 2 21 81 4, 694 1.7
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20 7 5 14 20 1 23 70 6, 636 1.1
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22 2 11 32 4 2 20 71 5,017 1.4
23 4 2 13 0 0 23 42 5, 058 0.8
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55 43| 53| 120 14 1 49| 280 3, 854 7.3
56 36| 62| 117 17 o] 43| 275 3, 968 6.9
57 24| 78| 108 11 4] 45| 270 4,200 6.4
58 20| 38| 115 11 o] 36| 220 4,112 5.4
59 10| 25 76 2 3] 26| 142 4,312 3.3
60 18| 34| 81 4 2 18| 157 4,170 3.8
61 12| 23] 82 3 0 12| 132 3, 445 3.8
62 8 18] 50 2 3l 21| 102 2,751 3.7
63 71 30| 80 3 2 13| 135 3, 069 4.4
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5 9 2| 35 1 1 4 52 2,007 2.6
6 10 11 35 0 2 9 67 2, 145 3.1
7 5 8l 31 3 4 11 62 1,944 3.2
8 4 7 14 0 2 6 33 1, 869 1.8
9 4 0] 25 0 2 5 46 1,926 2.4
10 6 8l 21 3 2 6 46 2,328 2.0
11 4 71 31 4 1 12 59 2,472 2.4
12 4 71 38 0 2 16 67 2, 605 2.6
13 4 71 41 3 2 15 72 3, 344 2.2
14 4 10| 45 7 2| 32 100 3, 834 2.6
15 12 13| 62 8 4] 34| 133 4,055 3.3
16 1 11 29 5 3] 23 72 3,976 1.8
17 4 71 28 5 1 20 65 4,346 1.5
18 5 12| 27 5 0 14 63 4,188 1.5
19 6 3| 25 3 0 9 46 3, 960 1.2
20 13 6 15 5 1 23 63 3,872 1.6
21 4 15 17 1 0 13 50 4,016 1.2
22 5 9| 31 4 21 20 71 4, 157 1.7
23 6 3 16 0 0] 26 51 3, 874 1.3
24 2 6 19 1 3] 23 54 3,272 1.7
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TEFN504 1,969 107 2,405 — — — — — — — —
TEFN5 14 1,896 100 2,284 — — — — — — — —
TR FN524F 1,991 7 2,390 — — — — — — — —
MEFN534 1,644 71 1,962 — — — — — — — —
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MEFN554F 1,651 82 1,962 — — — — — — — —
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MEFN634 2,694 80 3,128 69 53 3 13 2.6 — — —
TR oTA 2,839 93 3,259 60 47 4 9 2.1 — — —
PRk 24 2,926 100 3,469 67 53 6 8 2.3 4 98 | 102
SRk 34 3,234 94 3,742 69 56 7 6 2.1 11 99 | 110
PRk 44 3,336 109 3,903 51 41 6 4 1.5 7 66 73
SRk 54 3,169 115 3,743 44 34 5 5 1.4 3 64 67
TR 3,096 82 3,665 32 26 2 4 1.0 6 42 48
SRR T 2,928 100 3,492 34 25 2 7 1.2 4 44 48
PRk 84 2,944 77 3,407 36 28 5 3 1.2 8 57 65
P9 3,118 90 3,626 42 27 2 13 1.3 2 57 59
SRR 104 3,805 80 4,389 37 24 5 8 1.0 1 44 45
PR 14 3,904 65 4,443 29 22 2 5 0.7 2 37 39
PRk 124 4,294 79 4,877 41 30 6 5 1.0 3 46 49
SERRL 34 5,115 78 6,163 89 71 8 10 1.7 0] 124 | 124
SRR 144 5,759 61 6,958 133 | 103 16 14 2.3 5| 173 | 178
SRR 154 6,127 79 7,352 116 | 103 10 3 1.9 5| 142 | 147
R 164 6,512 61 7,752 181 | 133 22 26 2.8 2| 227 229
PR 6,519 63 7,839 179 | 135 20 24 2.7 2| 232 234
SRR 184 6,653 62 8,071 182 | 131 20 31 2.7 3| 220 | 223
SERR194F 6,525 43 7,852 181 | 119 24 38 2.8 3| 243 | 246
SERR204 6,509 43 7,664 165 | 111 20 34 2.5 2| 220 | 222
PR 214 6,324 47 7,524 179 | 122 28 29 2.8 2| 230 | 232
PRk 224 6,501 47 7,722 187 | 125 26 36 2.9 0] 245| 245
SERR234 6,788 45 8,045 176 | 120 30 26 2.6 3| 216 | 219
TERR244F 6,697 40 8,003 200 | 138 24 38 3.0 1] 235| 236
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